DTEMS PAST PAPERS

TECHNICAL STUDIES

\rthur Lewis Community Collegg —

vizion of Technical Education and Management Studies

EXAMINATION : Wi FIAL EXAMINATION Q
COURSE TITLE : CALCULUS H |

COURSE Cg;)E : MAT 216 #C J1

TUTORS : MR. VERNE CAZAUBON

TIME : 2 HOURS

DATE : Wednesday 14" May, 2014

INVIGILATORS i V. Etienne, M. Sifflet; F. Joseph

ROOMS : CEHI-1R-02 |

INSTRUCTIONS:

Answer all questions on this paper.

Answer all questions on the foolscaps provided.

Show all necessary working.

You are permitted to use nonprogrammable calculators.



SIR ARTEHU : LEWIS COMMIUNITY COLLE:ZE
Division of Technical Education anc Management Studie
MAT 216: Calculus [T Final

Instructions: Answer .1 guestions. Show all working.

1. Find the equation of the tangent to the graph x = t%;y = 4t at the poin
where t = - 1.

2. Find the equation of the normal to the curve x% + y2 = 10 at the point

(1,3).

3. Differentiate the following:
a. arctan(ln|6x|)
b. x?coth3x

4. Evaluate: sec(arctan/3).

5. Show that: sin(arccosx) = V1 - x2.

) ; -y
6. Using the result from question 5 above, find e (arccos x).

7=Find:

5x4/3-10%/% cosx
I dx

o=
VX

b. [sin®xcos®xdx

]

c. [sin5xsin4xdx
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= (arcsinh x)

L

—(sinhx) = coshx

dx 1
—- (arccoshx) =
-C—l;(cosh x) = sinhy
i . :
— ==(arctanh X} = ——
—(tanhx) = scchi* x o -
dx ’ o
- "‘L;; (arccosech X) = j—)—j
a(cosechx) = - cosechx cothx AVLI+T X
d 2 (arcsech ) = ——
— (arcsech x) = —————
E(sechx) = - sechx tanh x dx xV1 - x2
d 1
d —(arccothx) = ——
dx (cothx) = - cosech?x dx (ar ) 1- x*?
1
—(sinx) = cos — (arcsinx) = s
dx ( ) * dx ( .5} V1= x2
d (cosx) = -sinx d ( ) o
- = — Sk —(arccosx) = ——m
dx dx Al = ve
d
— (tanx) = sec®x d _
— (arctanx) = ——
dx dx ( ) 1+ x°
. - _ d -1
P (cosecx) = - cosecx cotx — (arccosec x) = -
—(secx) = secxtanx d 1
dx — (arcsecx) = e
P (cotx) = - cosec?x 1
tx) = ——
dx (arceota) 1+ x?




